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*Success? The probability of a success is p = 0.25 on each trial.
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0.75)° = 0.2373
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Binomial Probability

If X has the binomial distribution with » trials and probability p of success on each
trial, the possible values of X are 0, 1, 2, ..., n. If k is any one of these values,

P(X=

dent trials.
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1730 039551 026367 0.08789 0.01465 000098

R S A
P(Y <10) = P(Y <9) = binomcdf{(trial 0, p:

o 1 2 3 4 5

(4/52), x value: 9) =0.00613. Number of children with type © blood (X)

(0)(0.23730) + (1)(0.39551) + - - - +
(5)(0.00098) = 1.25

ok = St — m)’pi
= (0= 1.25%0.23730) + (1 — L25)(0.39551) + - - +
(5 — 1.25)%(0.00098) = 0.9375

« = V/0.9375 = 0,968

Vawez, 0 1 1 3 4 3
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Those two probabilities are quite close!
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"If'Y has 0 )
rial, the po‘ss e Y *‘-‘?‘ Zo i of these values,

PY=k=(1-p}'p




